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QUESTION 1

Consider A TAS for testing a desktop application via its GUI. All the test cases of the automated test suite contain the
same identical sequences of steps at the beginning (to create the necessary objects when doing a preliminary
configuration of the test environment and at the end (to remove everything created ?pecifically for the test itself during
the preliminary configuration of the test environment). All automated test cases use the same set of assertion functions
from a shared library, for verifying the values in the GUI fields ( e.g text boxes). 

What is the BEST recommendation for improving the TAS? 

A. Implementing keywords with higher level of granularity 

B. Improving the architecture of the application in order to improve its testability 

C. Adopting a set of standard verification methods for use by all automated tests 

D. Implementing standard setup and teardown functions at test case level 

Correct Answer: A 

 

QUESTION 2

If model-based testing has been selected for the overall test automation approach for a project, how does that influence
the layers of the TAA? 

A. All layers are used, but the test generation layer will be automated based on the defined model 

B. There will be no need for the execution layer 

C. No adaptation will be needed because the interfaces will be defined by the model 

D. There will be no need to design the tests for the API because those will be covered by the model 

Correct Answer: A 

Reference: https://www.guru99.com/automation-testing.html 

 

QUESTION 3

Which of the following describes how a test execution report is likely to be used? 

A. To understand which test step caused the failure in a test case 

B. To identify problematic areas of the SUT by keeping a history showing which test cases fail the most 

C. To measure coverage of the test basis by a test suite 

D. To record how a test case failure has been fixed 

Correct Answer: B 
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Reference: https://www.guru99.com/how-test-reports-predict-the-success-of-your-testing- project.html 

 

QUESTION 4

Which of the following statements BEST describe aspects of the SUT to consider when designing a TAA? 

A. All the interaction between SUT and TAS should be logged with the highest level of detail 

B. All the internal test interfaces of the SUT should be removed prior to the product release 

C. All the interface of the SUT affected by the tests should be controllable by the TAA 

D. All the external test interfaces of the SUT should be removed prior to the product release 

Correct Answer: A 

 

QUESTION 5

You are executing the first test run of a test automation suite of 200 tests. All the relevant information related to the state
of the SUT and to the automated test execution is stored in a small database. During the Automated test run you
observe that the first 10 test pass, while an abnormal termination occurs when executing the 11thtest. This test does not
complete its execution and the overall execution of the suite is aborted. An immediate analysis of the abnormal
termination is expected to be time consuming and you have been asked to produce a detailed report of the execution
results for the first test run, as soon as possible. 

What is the MOST important FIRST step to be taken immediately after the abnormal occurred when executing the
11thtest? 

A. Re-run the test automation suite starting from the 12thtest 

B. Return the database to a consistent state that allows subsequent test to run 

C. Take a backup of the database in its current state. So It can be analyzed later 

D. Re-run the test automation suite starting from the 1sttest. 

Correct Answer: C 
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